Year 6 puzzle page 2

Riddles

A.) Which word is spelled wrong in every dictionary?
B.) What has 88 keys but cannot open a single door?
C.) What has a bed but never sleeps, runs but never walks, has a bank but no money?

Maths puzzle

Q’ Four lines

Now this really does need some imaginative thinking -
but it is possible!!

/ Can you join all nine dots
with four straight lines,

T without taking your pencil
off the paper?
You can not go over any

. line twice.

Spot the difference- 16 to find!




